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SERIE 2

Primera part
Exercici 1
Q1 a Q2 a Q3 b Q4 c Q5 a

Exercici 2
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Segona part
OPCIO A
Exercici 3

a) FszgzﬂzlSBZNm
Os 530027
60

by p=—s =Fs - 80 _46719_67.10%
Pooc Ul 230-55

€) Egec =Pejgc -t =U-1-1=230-55-10-60=759,0kJ=210,8 W -h
Egis = Eelec - (1-7)=249,0kJ=69,16 W -h

d) c=p-Egec =0,09-210,83=0,019 €
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Exercici 4
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a) Rgq= l+i =5=15(2 - ImaszzgleA; lnin = v __18 =0,3A
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OPCIO B
Exercici 3
a) Y M©O)=0 —> mg(L+d)-FL=0

(L+d) d
Fzmgszg 1+E =mg| 1+ N, denmm

1950

La roda fa sobre el terra aquesta forga F avall.

b) F+Fo=mg — FO:mg—Fzmg—mg[1+%]=—mg%.

El vehicle fa una forca de valor mg% vertical avall.
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d d=0 - Fo=0 i F=3874N

Exercici 4
a) Py =Peiac “mot =Y 1 * Tlmot = 230-16-0,75 = 2760 W = 2,76 kW
Pn P 2760

[o=-m-m _ ~18,96 Nm
Om 2% 93902
60 60
3000.9.807 . 2
b) 7eq = Poanega _ MgV _ ’ 5 _0,6091= 60,91%
P P 2760

€) Pyis =Pelec — Pcé1rrega =U-l-mgv=1999 W

Pais = Pelec — Pelec * 77m Treqd =1999 W



